Jagram-Pro S.A.

REVELATIO IV

L =1160 cm
W = 589 cm
H = 326 cm

Jagram-Pro S.A.
ul. Lesna 16  14-240 Susz POLAND
tel. +48 55 2788497  fax +48 55 2786051
marketing@jagram.pl marketing@woodandarch.com
http://www.woodandarch.com/

Konstrukcja

1 040221



.} 7zt HE I I N . "N 7 i N I N Y

A 0 0 000 0 Wi/ 01 I 01 T I [ W\

160 5370 160 5370 160
A-A (-1:1100.)

2 040221



160 2800 160 2015

3 040221



LISTA CZESCI LISTA CZESCI
ELEMENT | 1L05C NR CZESCI ELEMENT | | 1LOSC NR CZESCI
1 1 kantowka 100x200x182 A 17 19 kantowka 56x120x2370
2 1 kantowka 100x200x182 B 18 2 kantowka 56x120x3150
3 1 kantowka 100x200x5457 19 19 kantowka 56x120x3762
4 1 kantowka 100x200x5529 24 8 tuk 38x120x1838Rw1090
5 1 kantowka 100x200x5564 25 4 tuk 100x120x1583Rw1090
6 1 kantowka 100x200x5636 26 3 tuk 118x160x2850Rw1880
7 1 kantowka 100x200x5748 A 27 1 tuk 88x560x5467Rw5800 A
8 1 kantowka 100x200x5748 B 28 1 tuk 88x560x5467Rw5800 B
9 1 kantowka 100x200x5820 A 29 1 tuk 88x560x5467Rw5800 C
10 1 kantowka 100x200x5820 B
11 3 kantowka 160x160x1850
12 3 kantowka 160x160x2700
13 2 kantowka 22x120x3172
14 2 kantowka 22x120x3927
15 2 kantowka 22x120x4442
16 2 kantowka 56x120x2150

040221



M14x180 *2 szt.
T —

M14x180 *2 szt

J_I
M14x180 *2 szt. v

(D

M14x180 *2 szt. M14x350 RPSEL.

e —

M14x350 *1 szt.

M14x350 *1 szt.
) N

M14x350 *1 szt. é,&

M1‘ylx350 *1 S\Zt.
S —
® v

M14x350 *1 szt.
M14x180 *2 szt. - le—

040221



@8x260 *2 szt.
SreeTey — =2 ~i

@5x45 *10 szt.

@8x260 *2 szt.

@5x45 *10 szt. 0
J—1 & 3

65x95x95 *1 szt.

@5x45 *10 szt.
J—

@5x45 *10 szt.
)

@10x180 *1 szt.

@5x45 *10 szt.
P

/| 65x95x95 *1 szt.

6 040221



@6x160 *2 szt.

e D5%45 *¥10 szt.

M14x300 *1 szt.
h}'mnlﬂ\t

M14x200 *2 szt.

S —

M14x200 *2 szt.

M14x415 *1 szt.

)

@6x160 *2 szt.
e————————

M14x300 *1 szt.

S —)

M14x200 *2 szt.

) D

.!—.;mﬂf

M14x200 *2 szt.
3 ¥

7 040221



529 635 635 635 635 635 635 635 635 752 635 635 635 635 635 635 635 529

2t N I I N . "N |7 il I I N N R N/

A/ 0 0 0 0 W § N W/ 0 0 0 N ¥ T  § W\

@8x180*19 szt. @8x180*19 szt.

35x50%50

@4x60 *4 szt.
@8x180 *9 szt.

—mely

@8x180 *19 szt.

D4x60 *4 szt.
D4x60 *4 szt.
—— @4x60 *4 szt.
——

@4x60 *4 szt.

@4x60 *4 szt.

@8x180 *19 szt. 8
040221



———y

@4x60 *42 szt.

@4x60 *42 szt.

040221



REVELATIO 4

&) M14x200 * 8 szt.
M14x300 * 2 szt.
M14x350 * 6 szt.
M14x415 *1 szt.

R (10x180 * 3 szt.

65%x95x95 *6 szt.

R LA

2 kpl.
d ?@8x180 * 85 szt.
h @8x260 * 4 szt.
A 35x50x50 * 19 szt. s————————dy D6X160 * 4 szt,

50 mm ?4x60*180 szt.
¢ M @5x45 * 80 szt.

e 20 s2t.

10

M14x180 * 12 szt.

040221



